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DERIVATIVE OF
EXPONENTIAL FUNCTIONS

i d
1 _ex =ex
dx

d @xtb) _ o (axth)
dx 1.

If y =1logx10, then the value of dy/dx equals-

d ax s
ML ™ (e™ sinb x) (A) 1/x (B) 10/x

= €™ (a sinb x+b cos bx) log_ 102 1
. | (€)— 10107 pyy
= ya’ +b? " sin (bx + tan" b/a) xlog, 10 (xlog, 10)

v, 4 (e™ cosb x) d’y
dx

2. If (a +bx)e”™ = x, then the value of X’ o is
X

= ¢e™ (a cosb x-b sinb x)
= ya?+b> ™ cos (bx + tan"' b/a)

DERIVATIVE OF
LOGARITHMIC FUNCTIONS

Lety = [f(x)] &
log y = g(x) log [f(x)]

é% - % g(x).log [f(x)]

X d
9 = 11001 | L teoioe o) (D) None of these

d x-2 3/4
i (logex) = 1/x 3.+ log{e [x+2j } equals -

(log.x) = !
X xloga
(B) 1

(logex) =1/x >

X x X —
D

(D)e x> -4
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. Iff(x) =logx ((In x), then at x = e,

l_s%nx , then ﬂequals -
I+sinx dx

8. Ify=log
f'(x) equals-

Ay 0 B) 1 (A) secx (B) —sec x

©) (D) 1/e (C)cosecx (D) sec x tan X

9. If y = ¢’ sin 4x, then the value of

dy
equal to - dx

. If f(x) = logy (loggx), then f '(x) is ‘
1s-

A) e™sin (4 +t lij
(A) loga (B) loga (A) X+tan 3

X x logx
(B) ¢*cos (4x+tan1 ?j
(C) log, e (D) =

xlog, x loga
(C)SeSXSin [4)(-|-tan1 %)
. Ify=log (Hcosxj, then the value

1—cosx

(D)SCSXCOS (4){ +tan”! %j

of dy 1s-
dx

. d
(A) sec x (B) cosec x 10. If y = logjo (sin x), then d—z equals-

(A) sin x logjo €
(C) —sec x (D) — cosec x
(B) cos x logjoe
— dy
. If y = log (cosec x — cot x), then —=
dx (C) cot x logjoe
equals-
(D) cot x

(A) cosec x + cot x

l+\/;
(B) cot x 11. d/dx log [1_\/;J equals -

(C) sec x +tan x
(a)

1-x

(B) ——
(D) cosec x I=x
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1

Jx (-x)
16. The derivative of log, x + log x* is
12. d/dx [€* sin,f3 x] equals- equal to—

(C) loglog. x (D) None of these

©) (D) None of these

(A) e sin ({3 x + [1/3) (A) % (a+ log, ¢)

(B) 2e" sin (|3 x + [1/3)

(B) ~ (at logea)
(€) %e" sin ({3 x + 0/3) i

(C) L+ logae

X
(D) Le*sin (3 x-11/3)
2 (D) None of these

2
13.Ify= X3 log x, then the value of d—z 17.If y sin x = x + vy, then (?\J
X Jx=0

dx
is- equals-
(A) 5x + 6x log x (A)1 (B) -1

)0 D)2
(B) 3x + 6x log x © )

(©) 6x+ 5x log x Ifx* +y’ = 3xy, then the value of ?is-
X
(D) None of these ) )
w3 =
14. If y = log(1- t%) and x = sin"'(t), then X" -y X—y

2
the value of d—Zat t :% is— ©)

dx

2 2

Xy X~y
3 (D)

y—X

y>—x

(A)3/8 (B)-3/8

19.1f ax? + 2hxy + by? = 0, then &
(©)8/3 (D) None of these ax = y > BTy

equals-
15. d/dx (logiox) equals —

(A) ax +hy (B) - ax + hy
X

(A) 1/x (B) (1/x) logioe hx +by hx +by
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hx + by hx + by
© (D) -
ax +hy ax +hy

20. If e* + ¢’ = &, then :—y equals-
X

(A)e*? B)e™

(C) -7 (D)™

Re—

. Iy x+xPy + 3xy =2, ﬁndj—y
X

. Ife*siny—e’cosx =1, find dy
X

What is the derivative of x*
. Ify=log (x¥), find &
dx

. Find d/dx (x°¢%)
. Ify=¢™" Find (v,)o

. If y=x% then Find the value of ?
X

. Ify=c®6"' then Find j_y
X

CIfy= (1+lj then find &
dx

X

Jfy=x"+a"* + x* then ﬁndj—yatx
X

=1
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*Hint to check your progress

1C 2B 3A 4D
6D 7D 8B 9C
11C 12B 13A 14D
I6A 17B 18B 19B
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